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const int MAXN=1e5+5,MAXM=2e5+5;
struct Edge
int to,next;
edge MAXM | ;
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|=Edge {v,head|u]};
head|u!=edge cnt;

int deg[MAXN|,vis [ MAXN/;
pair<int,int> E[MAXM]|;
int main

int n=read int(),m=read int();
_for(i,0,m

CVBB ACM Team - https://wiki.cvbbacm.com/


https://www.luogu.com.cn/problem/P1989
https://www.luogu.com.cn/problem/P1989

Last

update: _2020-2021:teams:legal_string:jxm2001: iy .c. ik cubbacm.com/doku.php?id=2020-2021:teams:legal string:jxm2001:%E4%BE%BI%ES%85%83%ET%BE%AFSESHAEBAL%EE%I5%BOSIev=1614671297

2021/03/02 ooooo
15:48
int u=read int(),v=read int();
deglul++,deglv]++;
Eli/=make pair(u,v);
_for(i,0,m
int u=E[i].first,v=E[i].second;
deglul<deg|v!||(deglul==deg!|v|&&u<v
Insert(u,v);
Insert(v,u);
int ans=0;
_repl(u,l,n
int i=head|u];i;i=edgel|i].next
vis|edgelil.tol|=u;
int i=head/ul;i;i=edgeli].next
int v=edge([i].to;
int j=head|[v];j;j=edgelj].next
int w=edgelj!.to;
ans+=(vis|[wl==u);
enter(ans);
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